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LSU4.9 sensor has

faster response (than LSU4.2),
and longer life expected

under similar conditions.

ALWAYS identify LSU4.9 pin5 (sensor wire missing, not a real signal !)
LSU4.2 pin EC18 pin

Function
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EC18/13 see pullup resistor note below
EC18/18

+12V

NC no wire to sensor (see Rcal below)

Check sensor-connector orientation by Rcal = LSU4.9 / pin5 (sensor wire missing),

and by sensor wire colors.

Do not just follow drawing without checking.

Power up ECU and measure nernst voltage (with nothing connected. Config does not matter at this point). If
less than 4V (above GND), then install a 27k resistor between nernst and +5V for correct operation (pullup
resistor for nernst reference current according to Bosch requirement: nernst reference current replaces the
LSU4.2 reference oxygen gas connection-tube, which was sensitive to clogging).

If the 27k nernstpullup resistor is installed (outside or inside the box as default now in 2016), nernst measures
>4V (typically appr 4.9V) when open circuit. With a 1k pulldown (test resistor towards GND) measures typically
appr 175-180 mV => don't install another 27k externally if already installed internally.

LSU4.9 must be selected in config (Wideband settings: independently possible for 1st and 2nd WBO2
channel). Other than that, same PID values work (eg. Ri target is 165).

Rcal = 84.5 Ohm; calibration 149
Rcal = 105.9 Ohm; calibration 166
Rcal = 158.3 Ohm; calibration = 208
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Rcal verification Ohm measurement:
Between LSU4.9 sensor pinl and pin5
(pin5 is resistor in connector, no wire to sensor)
81.4 Expected wbo2_calibration = Rcal * 0.8 + 81.4
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